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1(a) Translate the shape 𝐴 by the vector 

−7

−2

Label the new shape 𝐵.

[2 marks]

1(b) Translate the shape 𝐵 by the vector 
4

−3

Label the new shape 𝐶.

[2 marks]

1(c) Describe fully the single transformation from 𝐴 to 𝐶.

[2 marks]

Turn over for next question

Turn over ►

6

𝐴
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2(a) Rotate the shape 𝐷 by 180° clockwise about 0,0 .

Label the new shape 𝐸.

[2 marks]

2(b) Rotate the shape 𝐷 by 90° anticlockwise about (0,0).

Label the new shape 𝐹.

[2 marks]

Turn over ►

4

𝐷
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3 Reflect the four shapes below in the line of reflection.

[4 marks]

4 Reflect the shape 𝐺 separately in the following three lines. 

Label each new shape with the appropriate letter

𝑦 = 3 𝑯

𝑥 = −1 𝑱

𝑦 = 4 − 𝑥 𝑲

[3 marks]

Turn over for next question

Turn over ►

7

𝐺
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5 Enlarge the shape below by a scale factor of 0.5 with the center of enlargement at 

(1,1)

[4 marks]

Turn over ►
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6 Enlarge the shape 𝑋 by a scale factor of −1 with center of enlargement (0,0). 

Label the new shape 𝑌.

[3 marks]

Turn over ►
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7 Each shape below has undergone a single transformation, starting from shape 𝐿. 

Describe fully each transformation.

7(a) From shape 𝐿 to shape 𝑀:

[1 mark]

Answer

7(b) From shape 𝐿 to shape 𝑁:

[1 mark]

Answer

Question continues on next page 

Turn over ►
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7(c) Shape 𝐿 to shape 𝑃:

[1 mark]

Answer

7(d) Shape 𝐿 to shape 𝑄

[1 mark]

Answer

7(e) Shape 𝐿 to shape 𝑅

[1 mark]

Answer

Turn over ►

3
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8 For the following transformations, write down which points are invariant.

8(a) Reflect the shape 𝑆 in the line 𝑦 = 7 − 𝑥.

Label the new shape 𝑇.

[2 marks]

8(b) Translate the shape 𝑆 by the vector (−3,0). Label the new shape 𝑈.

[2 marks]

8(c) Rotate the shape 𝑆 by 180° about (5,5). Label the new shape 𝑊.

[2 marks]

Turn over ►
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9 Enlarge the shape 𝐴 below as follows

9(a) Centre of enlargement (−7,5) scale factor 2.5. Label the new shape 𝐵.

[2 marks]

9(b) Centre of enlargement (−7,9) scale factor 1.5. Label the new shape 𝐶.

[2 marks]

9(c) Mark the center of enlargement as 𝑋 on your diagram for the transformation that 

maps shape 𝐶 to shape 𝐵? 

[2 marks]

Turn over ►
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10(a) Reflect the shape 𝑋 in the line with gradient 1 such that the point (−3,2) is invariant. 

Label the new shape 𝑌.

[2 marks]

10(b) Rotate shape 𝑌 by 270° clockwise such that the point (−1,0) is invariant. 

Label the new shape 𝑍.

[2 marks]

10(c) Can 𝑍 be translated such that there are invariant points on 𝑍? 

Give your reasoning.

[1 mark]

End of questions 

END

5

𝑋
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